A

143,

144,

145.

146.

When the solid melts, its temperature :
(1) increases

(2) decreases

(3) remains constant

(4) first increases then decreases

Hydrogen was passed over heated
2.0 gm copper oxide till only copper
was left. The mass of copper obtained

~ was 1.6 gm. The percentage of oxygen

1n copper oxide is :
(1) 80%
(2) 60%
(3) 40%
(4) 20%

Which of the following molecule has

an gtomicity of four ?
(1) H,0 2 NH,
(3) CH, (4) CO,

One mole of CO, means :

(1) 4.4gm CO,

(2) 2.24 litres gas at STP

(3) 6.022 x 10%* molecules of Co,

(4) 22gmCO,

0v.-2014 _

(62)

143.

144.

145.

146.

mmwmﬁ,ﬁfmw
(1)%?”3

2) o &

(3) Qﬂiﬂ“lﬁw%

1) qe g & PR e

eredror N A 2.0 T FAT o
q T BRI S T FA
g | BT H AKX 1.6 TH &1 iy
) it 7T g PO RS ¥}

(1) 80%
(2) 60%
(3) 40%

(4) 20%

B3R R o @ e
(atomicity) 9% & ?

(1) H;0 (2) NH,
(3) CH, 4) co,
T HW CO, } sfwmg &
(1) 4.4 IW CO,

(2) 224 ¥R 9 STP

(@) 6.022x 10® 3y co, &

4) 22 W Co,
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148.

149.

150,

151.

l be:
(1) 0 (2) 2
(3) 8 4) 6
Which pair of atomic numbers

represents elements in same group ?

(1) 11, 19 (2)86, 12

(3) 4, 16 (4) 8, 17

The oxide of which of the following
element is not acidic ?

(1) Cl 2 S

3) K 4) C

How many grams of oxygen are
required to burn 40 gm of sulphur ?

S(s) + Oy(g) —» SO,(8)
(1) -4.0 gm (2) 40.0gm
(3) 400gm (4 80gm

HSTS/Nov.-2014

147.

148.

149.

150.

151.

A

fr=fefad & & #9.9 am1 =2 37 3
3 B P A B 7

(1) P-32
@ 1-131 .
(3) Co- 60

(4) U-235

Ao sy F, ) ww ¥ R
T & ?
mo @

(3) 8 4) 6

M= T #iF @ fRa S e
B T & 0 () ¥ vy F @ 2
111,19 (2) 6, 12

(3) 4, 16 (4)8,17

ﬁqﬁmﬁﬁﬁﬁa-aaﬁﬂmﬂz
g TR R ?

(1) C @ S

@) K @ C

40 IM TE B TR P R Rt
AFH A AR By ?

- 5(5)+ 05(g) > SO,(g)
() 4099  (2) 40079
(3) 400TW  (4) 807w

P.T.O.
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A .
152. @ & 7 @ @
gafefer # SR m FE

reen coloured solid,

152. A compound 'X' g .
gets oxidised to reddish brown s-ohd o 3 'ZIETE? - 3 X Efr@ o
in presence of air. 'X'on heating gives o g wd Y qel a it A
brown coloured solid Y' and two A B - 3 el Bl
pungent gases 'A' and 'B', 'A" turns 2 dr A 2 - 3 qﬁ?ﬁﬁ .
acidified  potassium dichromate : T 31 X Y, A B e ey
solution green, X, Y, A, B and type of gl " %: g
reaction is : !

ST
() CuSO, , CuO, SOy , SO0 (1) CuS0y, CuO, S0;, SOs
decomposition

() FeSO,, Fe, SOz, SOq STRIHTT

(2) FeSO,, Fe, SO;, SOy Oxidation

(3) FeSO, , Fe,05 , SO, , SO (3) FeSO,, Fey03,50,, 505 M
decomposition ’

(4) FESO4 " F€203 , SOg ’ SOz (4} FE?SO‘, F€203,SO3, SOz W

decomposition

153. Pl - faamd
(a) Bifife Qfdre (i) feemfeT wie

(b) A F T () FefH S

153. Match the following :

(a) Formic acid (i) dehydrating agent

(b) Nitric acid (i) Organic acid

(c) Electrolyte (i) mﬁrﬂ acid OFSEHANIE (i) EeT AR

(d) Cone. H,S0, (i\'r) NaCl () T T 1 B (iv) T FEs
@ (@ @, ® (i), ©) ), @ () W @) G, @) G, (c; @iv), @) ()
@ @@, ® @), © Gii), @ Gv) @) () @), (b (1), ©) Gi), (d) (v)
P O@O6.60m ®) (@ (i, () (), @ Gv), (@) i)
k@ @), 0) i), ©) 6), @) I(ii) () (@) (iv), (b) (i), () (i), (d) (i)

R8/Nov.-2014 -
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154.

155.

156.

157,

following :

Rings of cartilage are Present in the

(1) Oesophagus

(2) Trachea
(3) Throat

(4) Duodenum

Water absorption by roots takes place
under the influence of -

(1) Evaporation pull

(2) Transpiration pull

(3) Availability of soil water

(4) Availability of soil air

Which of the following is a plant
hormone ?

(1) Insulin
(2) Thyroxin
(3) Cytokinin

(4) Oestrogen

In which plant a piece of leaf can
regenerate the whole plant ?

(1) Banana
(2) Bryophyllum .
(3) Rose

(4) Bouga.invillea

HSTS/Nov.-2014

(55)

154.

155.

156.

157.

A

T 3 e P § ouen 99§

(1) TrE
(2) sEE
(3) =T

(4) =R

FE AT U W S e 3 e
3ameE:

(1) a5 el
(2) 3% (o) Rism
(3) T 77 F IT=a

(49 79 9 F I
FIdddmmueadae?

1) FR=

(2) aRiRET
(3) ARIHRFE
@) I

P 3w 3 A w dw
gﬁﬁfﬁaam%?

(D) F=W

(2) TSy
(3) o=
(4) a=RRE

P.T.O.
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158,

159.

160.

161.

_ HSTS/Nov.-2014

One of the following represents a
monohybrid cross :

(1) 9:7

(2) 3:1

3) 1:1:1:1
(4) 9:3:3

Which one of the
constitutes a food chain ?

following

(1) grass, goat and human
(2) grass, fish and goat .
(3) goat, cow and elephant

(4) grass, wheat and rhango

The Ganga runs from Gangotri

. through hundreds towns and cities in :
(1) Uttar Pradesh
(2) Uttar Pradesh and Bihar _
| (3) Uttar Pradesh, West Bengal and

Haryana

(4) Uttar Pradesh, Bihar and West
Bengal _

Mitochondria and Plastids are able to
synthesis some of their proteins
because they have : :

(1) DNA
(2) RNA
(3) DNA and Ribosomes

(4) RNA and-Riboaomea

(56)

158.

159.

160.

Pt % & & QR AE F Ry
T &

(1) 9:7
2 3:1

3 1:1:1:1
(4) 9:3:3
fret & @ 319 & @gd e #7
A e !

(1) o, a5t AT A
(2) O, woe oK FHl

M

- (3) Wi, MY AT et

(4) o, A ot am

Tieh & 70 hed &S FEr T g
¥ & 8 gu aedh & 7

(1) I W=

(2) I R v fEr

- ® I R, e I @ e

161.

'(4) IW Ry, RER @ ofEw s

TERRE W wiResw o B
ﬁ’ra??fmr e @ Fa ¥ it o
it

(1) SotHolo

(2) ainr'{'ol;lﬂoq::

(3) $oTHoto MR EAEH

(4) SMoTToto o TrEdrdg -
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162 Which of

the following are cardiac
muscleg 7 ‘

(1) Uninucleated and Unstriateq
(2) 'Multinucleated and Unbrancheq
(3) Uninucleated and Braﬁched

(4) Uninucleateq and Unbranched

163. Antibioticg v(rork_ against :

(1) bacterig
(2) virus
(3) dengue

(4) elephantiasis

164. Nitrogen fixing bacterig cannot fix

N, in presence of :
(1) Co, |
(2 N,

@ O,

(4) Light

" 165. Which one of the following is not a

cereal crop ?
(1) Wheat
(2) Rice

(3) Sorghum

(4) Mustard

HSTSINQV.—Z(IH

(57)

162,

163.

164.

165.

B & @ 99 aeg Wi & 7

(1) rﬁ'mﬂ‘ﬁmﬁﬁ

@) T§ I 0 srenia

(8) T Fsehra ud anfigg

(4) % B o s

st R Row o e & 7

(1) SHarg | |
(2) Ry

(3) ¥7

(4) e

et owRel & Tdvm Rerte
ﬁmﬂm@mﬂﬂﬂﬂﬂiﬂtﬁﬁiﬁﬁ?

(1) ¥ sRaTwEe
) g -

(3) sfterivr

(4) S

M1 8 & 3N o1 & o 7 ?7?

P.T. 0.
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A

1686.

167.

168.

169.

The traffic lights at three different
signals change after 48 seconds, 72
seconds and 108 seconds. If they
change at 7 a. m. simultaneously.
How many times they will change
between 7 a. m. to 7 : 30 a m.

simultaneously ?

(2) 4'

(1 3

3) 5 (4) 2

Sum of series (1+2)+(3+5) +(6+7)
+(9+10) + ........ +(93 + 94) + (95 + 97)
+(98 + 99) will be :

(1) 5050 (2) 3750 -

(3) 1350 (4) 4250

lf(\/?:)x = (\/g)y =(Jlg)!,_then£

(1) _1. + l + 1‘- = 0 |

x y 2

(2) ,l.{.i__];:z
x y 2

3) xy-xz-2y=0
(4) xy-xz-2y=2
If (4sec?6-1)(sin0-2) (2cos?6-1)=0

then number of possible different
values of § are (0° <0 < 180°) :

(1 5 (2) 4
@) 3 4) 2

ESTS/Nov.-2014

(58)

166.

167.

168.

169.

ar o et 3 3 B A 48
W, 79 ¥ve Wl 108 TS
et 31 A A OF WO T
IR TWAT N TG

e R A &&e
(1) 3 (2) 4
@ 5 @ 2

(1+2)+(3+5)+(6+7) +(9+10) +
......... +(93+94)+(95+97)+(.98+99)

F HIg B

(1) 5050 (2) 3750
(3) 1350 (4) 4250
Y - - @IS
(1) l+l-i-—=0

X y z
WL % N

x ¥y z

Q) wy-xz-zy=0
(4) xy—:&-—z'y=2

qm-(4SC_C4B—l)(sinﬁ-z)(hosﬂ'ﬁ—l):ﬂ,.
R N i e et
w9 &) (0°<0<180°:

(1) 5 (2) 4

3) 3 4) 2
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- 170,

171.

172.

A farmer wants to fence his

rectangular field (28 m x 49 m) with

"\\“r:ji'e. He wants to spend minimum
amount in fixing the pillars for wire
at the same distance. If cost of fixing
one pillar is ¥ 1,000, then total cost of
fixing pillars used will be -

(1) 18,000  (2) 22,000
(3) ¥20,000  (4) 728,000

Figure formed by joining points
A(—E-%) B[—Z-%J and C(2, 2) will
be :

(1) Isoceles triangle

(2) Scalene triangle

(3) Equilateral triangle

(4) None of the above

A man sells a full cone icecream cup
at ¥ 20 in which cost of empty cone &

profit is ¥ 5. If he puts a |

hemispherical shape icecream on its
top with base exactly same in size of
top' of cone (profit is same in both).
Then it sells at ¥ 50, then height of

cone will be :

(1) $ame as of hemispherical top
(2) Half of lllehzl_ispherical top .
(3) b_ouble of henﬁspheriﬁal top

(4) None of the above

hrSfl\hw.—% 14

(59)

170.

171.

172,

A

@ P oW R
(28 m x 49 m) ¥ A F S T
e 1 9 WA U WG9 T
&9 @ F9 @ Fo ¢l A T
@ @ T @ @ T 1,000 &, A @&
F T F G A e et !

(1) 18,000 (2) 22,000
(3) ¥20,000 (4) 328,000

35) g53 5 9) frzal
A[2,2),3(2,2]@’RC(, ) &g
F e Waﬂiﬁﬁf 2

(1) g B

@) mgwaﬂwﬁaﬁ

(3) HHATg P

4) T 8§ 5 T8
%aﬁﬁaﬁﬁiﬁq(wmwﬁzo
Ft e &) Fored 2 5 @/l a9 aar a
% 21 3R 9% I W @ ST
AR H AN T & H F SR
q QG EF Q@I 2 50 F I B

@ & @ R) o6 AW aw R
SRt -

(1) SN T B FE D
(2) SNBR qT ) T F ey
3) Nﬂ‘ﬁﬁmmaﬁ"’m@%ﬁw

@) T A T

P.T.O.

Scanned by CamScanner



(60)

A 1 50
178. IR :c+—;=",‘r" @,
173. If g+.1_='.5_9, then which is always
N 27
true ? _
‘ (1) x-'m" > 700
) x™ >700
700
@ x™ <700 @ =™ <700
700 5700 & % <700

3) x

£1%0 > 700 or 7% <700
100 5 70 A & <700

(3)

4) x™ >700 and £ <700 4) x
ABC#, AB=BC
174. In an isoceles triangle ABC, AB=BC | 174. AR T T T -
and AD is angle bisector of ZA, then aar AD A FHEATTD
: A ABD = A ACD &, afs

AABD=AACDby using:
(4) AB=AC, 2B=£C (-AB = AC) (A) AB=AC, £B=£C (~+AB = AC)
and ZBAD = ZCAD (given) qen £BAD = £ZCAD (e &)

(B) AB = AC, ZBAD = ZCAD (%1 ?)

(B) AB = AC, £BAD = ZCAD (given)
and AD is common qu AD T il ®
(1) Only by (A) (1) @4 (&) §
(2) Only by (B). (2) % (B) ®
(3) Both (A) and (B) . (3) @)@ B &
(4) None of (A) and (B) | () (AT (B) T TE
175. intielaat A };Z trapezium ABCD if 175. @4 ABCD ¥ @ A, 59 AB= 18 81,
i | i
ey . @ ) '60., @) 45°

3) 90° (4) None of these (3) 90° @) 7 AP @

: TS/Nov.-2014
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176.

177.

178.

A point (q, b) in the plane is such that
lal < 4, bl < 4, where a, b are
integers then what is the probability
Fhm the distance of point from origin
15 at most two units

13
(1) a1
(2)

11

3 a1

13

4 =
()64

If a®x? —gqxy+1=0 where a < 0 and
x>0, then:

() y=2
(2) y<-2
3) y>2

(4) y<-2

If Jxy is irrational, then vx + 4y will
be :

(1) natural
(2) rational
(3) integer

(4) real

ESTSn:lov.-zou

(61)

176,

177.

178.

@ @ (0, b) W & # 50 g 3
lal s 4, b <4 78 o a1 b ot
G|

& g frg Ao R @ g
W1 2 AEE BN b Wi e

2 o 57

13

() 81

16

@ 81

11

@) B

13

(4) ”

qﬁ a’x® —axy+1=0 &l a < 0 T
x>0d9 :

(1) y22
(2) y<-2
G)y>2l

4) y<-2

R 5 T e b, d V3
BT

(1) sTpfed
@ wRig
(3) Tl
'(4j I (EE

P.T.O.
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179.

180.

If cos® A = sin?A then cot? A — cot® A
is equal to:

(1) 0
2 -1
3) 1
(4) 2
In the given figure, AB = 4 cm and
BD = 4/3cm . Then the relation

between A [area of triangle ADC] and
S (shaded area bounded by three

(62)

179. g cos® A= sin?A, @9 cot? A — cots 4

180.

T e
(1 0
@ -1
® 1
@ 2

& W ok § AB ot

BD = 4/3 @I, @& ADC
e () d eegdl EW aw
fod a7 # AFEA (S)

]
W

semicircles) is : & :
D
A B C
(1) A>8 () A>S
@ a<S @ A<S
(3) A=S 3 A=S
~ (4) None of the above (4) FFEf kil Eﬁs‘ el

Scanned by CamScanner



N

7. mn’i U, IR ymes § AeiRa wml B w0
Wid wge ¥ A quimy ger wwn R, S B
farar my # . :

R wE A U W @ R 2 € A T SR e
AT AT |

8. v Frl Wen gfct ¥ s giom @ R @ T @
TE WA |

9. Wl I BT OMR IR T [ B ifva Y| a9y
SR WHEE dfa | S qgen ¥ WO e
(e gwgs) &1 wanr fafvg

10. W% g9 & fav Ry 7 oar Aol § ¥ Sha
o @ fay OMR 3R wom w 390 @ g,
o A W o Ao/ew A age oY R
TS AR IR AfRa B @ are 99 dEen T8 o

11.mﬁgﬁﬁﬂaﬂﬁssﬂwmaﬁw:|m

12. 9fen gRE® @ STR TS @7 SaEgds wan e, s
forelt o oRfRerfy & (Saa e T4 9T U &
warm ¥ e i Refty & orsew) guvt vdar gRaer
dc gyaer 78 sy Tyt

13. wen gRas1 /IR =@ ¥ Ry 1 mwie B apedi wd
e § wfor o3 # ford | |
14. snueff ) qden BT/ Fe F waw @€ @ fram
W B gregard, gk @ evafaien wrre @) afdd,

" UoR, WAt WA, goEeiae Suewer @ fEl o yeiR
A T B F S @ g B P AR TE R

15. vhied g1 qp W W g el s wam wre
@& o) R |

16. 3= anfles o tRgs A Qv gl & R aR
arefl 3T w@E F US| '

17. seapifis / awrafen WRaas o IoanT afefd 2

18. A Ere # ofen gRawn oy SR TEG BT WE T
AT T B ’

Ren T B W, apeefl @ /| e § 9 e

g Ha-daee @Y sy wtg ¥ | apadf AR W
- e g @ @ o &

arr ofer ¥ A grE BT amaers # | e W 3w A
& afet @ T e o |

7. Answers lo questions in answer sheet are o be given
by darkening complete circle using Black/Blue ball puing
pen as shown below :

o e O 6

The answer will be treated wrong, if it is marked, ag
given below :

@ ® © @

If you fill more than one circle it will be trealed as a
wrong answer.

8. Rough work should be done only in the space provided
in the Test Booklel for the same.

9. The answers are to be recorded on the OMR Answer
Sheet only. Mark your responses carefully. No whitener
(white fluid) is allowed for changing answers.

10

Oul of the four alternalives for each question, only one
circle for the most appropriale answer is lo be darkened
completely with Blue/Black Ball Point Pen on the OMR
Answer Sheel. The answer once marked is not allowed Lo
be changed.

11. The candidates should ensure that the Answer Sheet is
nol folded. Do nol make any stray marks on the Answer
Sheel. Do not wrile your Roll No. anywhere else excepl
in the specified space in the Answer Sheet,

12, Handle (he Test Booklel and Answer Sheet with care; as

under no circumstances (except for discrepancy in Test
Booklet and AnswerSheel Serial No.), another set of Test
Booklet will not be provided,

13. The candidates will write the correct Number as given in .
the Test Booklet/ Answer Sheel in the Attendance Sheet.

14. Candidates are not aliowed to carry any textual material,
printed or wrilten, bits of papers, pager, mobile phone,
electronic device or any other material except the Admit
Card inside the examination hall /room.

15. Each candidate must show on demand his/her Admit

Card (Roll No.) to the Invigilator.

16. No candidate, without special permission of the
Superintendent or Invigilator, should leave his/her seat.

17. Use of Electronic/Manual Calculator is prohibited.

18. No part of the Test Booklet and Answer Sheet ‘shall be
detached under any circumstances.

19. On completion of the test, the candidate must hand over
the Answer Sheet to the Invigilator in the Room/ Hall.
The candidales are allowed to lake away this Test
Booklet with them., .

20. Language Test is treated only as a qualifying test. Marks
obtained in Languages test will not been included in the
Total Marks.
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